20204 A S CAREMKX Y T 7 xthikikiii Ka

WIH @ 20208F10 24 H (+)

No.6 BBF 50m FEjk=F

L IMNETE >

ANJH
=

U B HEHIEAK 7 — 1 (50m)

B A L L— R R

BfL. K 4 i B 2E KE =
1 iR KiE KLEERH /1 4/ 3 55. 41 5k
2 Al HX VRET 5 /1 1/ 4 1:04. 28
3 KEE M EFeE S C /I 1/ 3 1:05. 28
4 JNEF A J SSHE /M 3/ 5 1:07. 34

= Bk ] SSkH /I 1/ 6 %#87.6

No.6 BBF 50m Fjk=F B A LL— R R

L INFE2HFE >

BRI K 4 T & 2E KK =G
1 [y & Y M IEDN /N2 5/ 7 51. 71 4%
2 Al BE 1toSWIM /]2 3/ 8 55.03 5k
3 AH K MY S&%PE /N2 4/ 6 55. 83 5k
4 (N MY S& %Rt /N2 2/ 5 57.06 45%
5 At FAERER MY S4Bt /N2 2/ 4 57. 43 45%
6 EEH WA V RET /NG 2 2/ 2 57.73 45%
7 (saEB 2 V TN N2 2/ 7 57.90 A5k
8 =& MK MY S45pt /N2 3/ 1 57.98 A%
9 R A T NN /N2 3/ 4 58.29 43t
10 ZJR S KLEEBH /2 4/ 7 1:00. 44 =T 3%
11 F5E [EA EFFE S C /N2 1/ 5 1:05.54 *T8
12 3§10 & MY S45pt /N2 1/ 7 1:05. 64

No.6 BBF 50m Fjk=F B A LL—R R

L INEIFE >

BRI K 4 T & 2E KK B
1 Y 59N WAV /N3 9/ 8 44. 48 Stk
2 IRES BHRk FEIR S S /N3 5/ 3 49. 29 5k
3 HHE— Ers GRS S /N3 6/ 2 49. 53 8k
4 B KLEHERHF /3 5/ 4 50. 28 5#%
5 AR jt% PN /N3 5/ 5 50. 41 4%
6 AR Ak KLWEERH /3 6/ 7 52.10 3k
7)a BEAN MY S4 bt /N3 5/ 6 52. 51 Tk
8 Hiem KA J SSEHE /N3 2/ 3 54. 68 6%
9 E% s ] SSkH /N3 4/ 8 54. 89 6%
10 9 ZR0#H K L#&EHI /N3 4/ 4 55. 85 5k
11 | 2 J]SS—& /N3 4/ 2 56. 93 Lk
12 /NB B GRS S /N3 2/ 6 57.09 45%
13 gk A=k KLWEHERH /3 4/ 1 57. 81 45%

No.6 BBF 50m k= B4 LL—RRE

L INEAFE >

B K 4 T & 2E KK L=
1 BB &R ] SSkH /4 10/ 5 41. 84 8#k
2 FEL HECK Y A4SS /N 10/ 8 42.70 %
3 HH  RME RS S 10/ 1 43.09 T
4 £ K BIGT /N4 9/ 7 44. 45 6%
b ek Btk MY S4&%F: /)4 8/ 4 44. 69 6%
6 g FER ]S sttj%"< /N4 9/ 2 44. 88 Sk
T B FHEE JSS—& /N4 6/ 4 46. 99 5k
8 &R — J S S5FIL /N 6/ 5 47.04 5%
9 FiE FHE J S S5FIL /N4 7/ 6 47. 51 43t

HAOBEME: 10H24H 9:51



20205EF A S CAREMIKX Y T 7 xtbukiksiii K& 2/2

WA : 20204E10H24 0 (+) 2 BB IHHIEAK T —/1 (50m)

No.6 BF 50m Fjk=F R A LL—RRE

L INFAFE >

BfL. K 4 i B 2E KE =
10 fEAMR—E) JSS—& /N4 7/ 8 47.76 45
11 =5 & v — RSFIL 7N 6/ 8 47.82 4%
12 ‘&R &G KLEFEBEH /M4 8/ 8 48. 61 4%
13 A HEAE J S S5FIL /N4 5/ 2 50. 67 4%
14 B% E=p =) J S S5FI /N4 3/ 2 54.10 2%
15 KA KER ] SSkHE ! 5/ 8 54. 63
16 4 = fEIR S S /N4 3/ 6 1:03. 85
17 i ] SSkE /N4 1/ 2 1:05. 49

No.6 BBF 50m Fjk=FE B A LL— R R

L INFEHE >

B K 4 ir B 2E KE =
1 /NS R EA FEIRS S /N5 11/ 6 36.19 10#%
2 Bk {2H ST N N5 11/ T 37.77 10%
3 AT FHER B — R5FLL /N5 10/ 4 38. 11 Sk
4 Rk LA FEIR'S S /N5 11/ 8 39. 85 Tk
5 Ak FhEE v— FSEIL /N5 9/ 3 40. 27 9%k
6 BT wWH KL#EFHH N5 10/ 7 40. 91 6%
TR AE B — R5FLL /INB 9/ 4 40. 99 6%
8 HH 3 JSSktR /N5 7/ 5 42.26 5%
9 /NIE  fEHR Yy NN N 9/ 6 42. 71 5%
10 dbH ¥R ]SSR /NG 8/ 2 45. 66 6%
11 /N [EF 7 4 VK H /INB 8/ 1 46. 15 3k
12 ¥ —~ L iRZe RS —=—X /G 7/ 1 49.07 45

No.6 BBF 50m FEjk=F R A LL—R R

L INFEOE >

B K 4 ir B 2E KE =
1 Bl BA MY S4 %kt /N6 11/ 4 34.22 10:%
2 Vv 28S SHRA /6 11/ 5 34. 40 9%
3 Wk HE FAIRS S /N6 11/ 3 35.73 8%
4 =3 =EKX J SSHE N6 11/ 2 36.56 Sk
5 % sk J S S5FIL /N6 11/ 1 38.70 6%
6 2R Hife KL#EFHH /N6 10/ 6 40. 54 5%
T ORNE MY B — h5FL NG 9/ 5 41.22 6%
8 HIkF K VT = /6 10/ 3 41. 81 6%
9 VE M RER 7 (VK H NG 8/ 6 43. 40 3%
10 g o= A4S S /N6 6/ 3 43. 56 3k
11 AifE KRG J S S5Fil N6 T/ 4 45. 40 3tk
12 4w 7 ERE S C NG 8/ 5 45.73 1k
13 WA fEm K L&FHF NG 8/ 3 45.90 Ltk
14 BN KRE A4S S /N6 7/ 7 46. 07 3k
15 R A L8S SEA /N6 6/ 1 46. 21 3%
16 54 FEig RS —=—ZX /6 6/ 6 48. 35 1%

HHHBE: 104248 9:51



